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A rancher is setting up a fenced rectangular area for her sheep next to a cliff (no fencing needed next to the
cliff). if she has 1000m of fencing in total to use and wants to enclose the largest area: .E?k?“{? FlxAC
a) What dimensions should the rectangle be?
b) What is the total mlued area?
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A hotel is trying to decide on a nightly rate to maximize income. When they charge 580 a night, 75% of the 400
rooms are booked, A survey of customers shows that increasing the price by $5 would decrease the number of
customers by 10. Find the nightly rate and number of customers that maximizes their income.
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] Row Regh ooed Che apple gar
d en daes the apple reach its maximum height?
d] When does it hit the ground?
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